This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - Selkirkshire

4,007 3 1,002

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Trevor ADAMS	Scottish Conservative and Unionist	606
Michelle BALLANTYNE	Scottish Conservative and Unionist	1,081
David BLACK	Independent	123
Gordon EDGAR	Independent	514
Kenneth GUNN	Independent	392
Barbra HARVIE	Scottish Green Party	122
Nancy NORMAN	Scottish Liberal Democrats	134
Scott REDPATH	Scottish Labour Party	147
Elaine THORNTON-NICOL	Scottish National Party (SNP)	888
	Total	4,007

Candidate Michelle BALLANTYNE Elected with 1,081 votes, being in excess of the quota of 1,002

This report contains the transfers results.

Stage 2 - Surplus of Michelle BALLANTYNE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	747	0.07308	54.59076
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	14	0.07308	1.02312
Transfer to Gordon EDGAR	140	0.07308	10.23120
Transfer to Kenneth GUNN	61	0.07308	4.45788
Transfer to Barbra HARVIE	11	0.07308	0.80388
Transfer to Nancy NORMAN	22	0.07308	1.60776
Transfer to Scott REDPATH	15	0.07308	1.09620
Transfer to Elaine THORNTON-NICOL	12	0.07308	0.87696
Value of non-transferable ballot papers			4.31224
	Total		79.00000

This report contains the transfers results.

Stage 3 - Exclusion of Barbra HARVIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	4	0.07308	0.29232
Transfer to Trevor ADAMS	2	1.00000	2.00000
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	1	1.00000	1.00000
Transfer to Gordon EDGAR	7	1.00000	7.00000
Transfer to Gordon EDGAR	1	0.07308	0.07308
Transfer to Kenneth GUNN	7	1.00000	7.00000
Transfer to Nancy NORMAN	27	1.00000	27.00000
Transfer to Nancy NORMAN	3	0.07308	0.21924
Transfer to Scott REDPATH	2	0.07308	0.14616
Transfer to Scott REDPATH	17	1.00000	17.00000
Transfer to Elaine THORNTON-NICOL	52	1.00000	52.00000
Value of non-transferable ballot papers			9.07308
	Total		122.80388

This report contains the transfers results.

Stage 4 - Exclusion of David BLACK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	2	0.07308	0.14616
Transfer to Trevor ADAMS	12	1.00000	12.00000
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to Gordon EDGAR	37	1.00000	37.00000
Transfer to Gordon EDGAR	3	0.07308	0.21924
Transfer to Kenneth GUNN	2	0.07308	0.14616
Transfer to Kenneth GUNN	13	1.00000	13.00000
Transfer to Barbra HARVIE	0	0.00000	0.00000
Transfer to Nancy NORMAN	8	1.00000	8.00000
Transfer to Scott REDPATH	11	1.00000	11.00000
Transfer to Elaine THORNTON-NICOL	15	1.00000	15.00000
Transfer to Elaine THORNTON-NICOL	2	0.07308	0.14616
Value of non-transferable ballot papers			28.36540
	Total		125.02312

This report contains the transfers results.

Stage 5 - Exclusion of Nancy NORMAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	4	0.07308	0.29232
Transfer to Trevor ADAMS	19	1.00000	19.00000
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	0	0.00000	0.00000
Transfer to Gordon EDGAR	38	1.00000	38.00000
Transfer to Gordon EDGAR	7	0.07308	0.51156
Transfer to Kenneth GUNN	4	0.07308	0.29232
Transfer to Kenneth GUNN	12	1.00000	12.00000
Transfer to Barbra HARVIE	0	0.00000	0.00000
Transfer to Scott REDPATH	43	1.00000	43.00000
Transfer to Scott REDPATH	2	0.07308	0.14616
Transfer to Elaine THORNTON-NICOL	27	1.00000	27.00000
Value of non-transferable ballot papers			30.58464
	Total		170.82700

This report contains the transfers results.

Stage 6 - Exclusion of Scott REDPATH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	18	1.00000	18.00000
Transfer to Trevor ADAMS	3	0.07308	0.21924
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	0	0.00000	0.00000
Transfer to Gordon EDGAR	8	0.07308	0.58464
Transfer to Gordon EDGAR	38	1.00000	38.00000
Transfer to Kenneth GUNN	27	1.00000	27.00000
Transfer to Kenneth GUNN	2	0.07308	0.14616
Transfer to Barbra HARVIE	0	0.00000	0.00000
Transfer to Nancy NORMAN	0	0.00000	0.00000
Transfer to Elaine THORNTON-NICOL	48	1.00000	48.00000
Value of non-transferable ballot papers			87.43848
	Total		219.38852

This report contains the transfers results.

Stage 7 - Surplus of Elaine THORNTON-NICOL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	1	0.00205	0.00205
Transfer to Trevor ADAMS	31	0.02814	0.87234
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	0	0.00000	0.00000
Transfer to Gordon EDGAR	222	0.02814	6.24708
Transfer to Gordon EDGAR	2	0.00205	0.00410
Transfer to Kenneth GUNN	5	0.00205	0.01025
Transfer to Kenneth GUNN	266	0.02814	7.48524
Transfer to Barbra HARVIE	0	0.00000	0.00000
Transfer to Nancy NORMAN	0	0.00000	0.00000
Transfer to Scott REDPATH	0	0.00000	0.00000
Transfer to Elaine THORNTON-NICOL	0	0.00000	0.00000
Value of non-transferable ballot papers			14.40206
	Total		29.02312

This report contains the transfers results.

Stage 8 - Exclusion of Kenneth GUNN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Trevor ADAMS	5	0.02814	0.14070
Transfer to Trevor ADAMS	15	0.07308	1.09620
Transfer to Trevor ADAMS	48	1.00000	48.00000
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	0	0.00000	0.00000
Transfer to Gordon EDGAR	2	0.00205	0.00410
Transfer to Gordon EDGAR	189	1.00000	189.00000
Transfer to Gordon EDGAR	23	0.07308	1.68084
Transfer to Gordon EDGAR	169	0.02814	4.75566
Transfer to Barbra HARVIE	0	0.00000	0.00000
Transfer to Nancy NORMAN	0	0.00000	0.00000
Transfer to Scott REDPATH	0	0.00000	0.00000
Transfer to Elaine THORNTON-NICOL	0	0.00000	0.00000
Value of non-transferable ballot papers			218.86051
	Total		463.53801

This report contains the transfers results.

Stage 9 - Exclusion of Trevor ADAMS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michelle BALLANTYNE	0	0.00000	0.00000
Transfer to David BLACK	0	0.00000	0.00000
Transfer to Gordon EDGAR	11	0.02814	0.30954
Transfer to Gordon EDGAR	255	0.07308	18.63540
Transfer to Gordon EDGAR	217	1.00000	217.00000
Transfer to Kenneth GUNN	0	0.00000	0.00000
Transfer to Barbra HARVIE	0	0.00000	0.00000
Transfer to Nancy NORMAN	0	0.00000	0.00000
Transfer to Scott REDPATH	0	0.00000	0.00000
Transfer to Elaine THORNTON-NICOL	0	0.00000	0.00000
Value of non-transferable ballot papers			526.70715
	Total		762.65209